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1. The teacher says:  “In this Venn diagram, A is the set of words with three letters”

& The teacher writes:

A = {words with 3 letters}

rabbit (i) Tick the O with the correct statement

O old € A “old is a member of A”

|
appie O old € A’ “old is a member of not A”

(ii) Add the word old to the Venn diagram

fish

2. The teacher says: “In this Venn diagram, A is the set of square shapes”

& The teacher writes:

A A = {square shapes}

(i) Tick with the correct statement
O e A “O is a member of A”

O e A" “O is a member of not A”

A \Y O (ii) Add ¢ to the Venn diagram

Venn (1) Q1:(i) old € A (ii) old inside circle A Q2 (i) ¢ € A’, (ii) ¢ outside circle A, but in £
Q3:(i) tree € A, (ii) tree outside A, but in & Q4: (i) Vv € A, (ii) V outside A, but in £

1. The teacher says: “In this Venn diagram, A is the set of words with three letters”

¢ The teacher writes:

A = {words with 3 letters}

rabbit (i) Tick the O with the correct statement

O old € A “old is a member of A”

1
appee O old € A’ “old is a member of not A”

(ii) Add the word old to the Venn diagram

fish

2. The teacher says: “In this Venn diagram, A is the set of square shapes”

& The teacher writes:

A A = {square shapes}

(i) Tick with the correct statement
A O e A “O is a member of A”

O e A “O is a member of not A”

AN \Y4 O (ii) Add ¢ to the Venn diagram

@O0 Venn (1) SRS Learning Limited



practise-learn

Venn (1) timelypractice.com

3. The teacher says:

“In this Venn diagram, A is the set of animals”

§

cat

red

rabbit

' The teacher writes:
thick

A = {animals}

(i) Tick the OJ with the correct statement
O tree € A “tree is a member of A”

flower
O tree € A" “tree is a member of not A”
blue
(ii) Add the word tree to the Venn diagram

4. The teacher says:

“In this Venn diagram, A is the set of circle shapes”

The teacher writes:
¢ A A = {circle shapes}
. (i) Tick the correct statement
vV € A “V is a member of A”
4 v € A" “V is a member of not A”
A O ¢ (ii) Add Vv to the Venn diagram
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